Rl

4
¥, . .-' . _ ~ =
KX ked %, avec.ke]:<3 \@)X\/E _ 7S -
avec.ke4‘=(\/3—1‘)/ A y ;! . R:(1+\/3)><\/;><K
K X.ke3 Wi R R~ 3 \ 1 £
avec. kei= 3x\2 Z /L NNA \ [ 3-11x12
KX. ke6 o K X.ke2 ’ : . K:WXR
3 : _(V3-1)xv3 S R \
avec . ke6 =3 v avec.keZ—f | ;! .
P ac S N e = KxV2
\ B réduit B
Petit E. = Rayon,, =.rayint XK : «
[ iy etit kmpan a)fonmterne raym | ! ’ J >| Diagonale= KI
avec .rayint= ( 1 +\/3) \ : K
I o S~ . N /{ ‘ .°
V Demi Empan=Rayon ,,,=.rayred X K AR / Hauteur:KX.\?mt
— . L =~ 3
K X.ke5 avec. rayred:m < . / avec. haut—T
(3-13) 2 : 7
avec.ke5:T N
= - Grande fleche= K X. gfl
KX ke? \\ Petite fleche=K X. pfl [\ (1+v3)
(1) | oo ———.- - _(3-1) avee. gf =120
avec. ke7= 3 X2 peA aV€C~Pﬂ—T
.ke7=. pflX.rac2 N <0 I R
".‘ I E N AN NS 15°
150° Y AN/
! |' ....... 300
135° 120° o

. FSA_Mes



